%
4
>\d~3\l¢

\]
THE4 | R7 =4+ mMmpiR = - Z%EK fELFE FERXS TH B HERR - (578
THEXS K ERE
TEX 5y - THE - fER] - 5] Hikg HAT e (FimE) e (AED) Frm e
TH K ERE
= 1
LT
= 1
EiEEFTHR X T
= 1
ALERR BT EHLERRFRR 7 AT 7 M EERR, T AT 7V M
FERRE  15emPL T
m 10
EAE IR (/NI EHLERRRRR 7 A7 7 MR EERR
m2 800
BOE g R 2
m3 24
BALGy FRFRBI  TAT 7 gk
m3 24
1By
m3 0.01
ARpEFEIE AL 0 L
m2 800
=g MEHMEIE AR RIE T 22y (13), &2t
= 40mm, SEE E 1. 4nlh |
m2 690
eI PRHEER P AR RLET A2y (13), &lidE
)= 50mm, EHNE B 1. 4mLL |
m2 110
-1 - %l:m%/a\




EiRfEZR (R01)

T
g

<

TH4 | R7=1 wBMMmAHR = ZIEK SETF FHENX Sy TE R HME R - B
THXSy HRERE
THX Sy - AR - R - A Bikk HAL Gl e (4E) KR e
Bz — b
m 870
LG an
= 1
AR BT
= 1
AR R A B
' AR 15
SIS R A
’ AR 60
B LHEE
= 1
B ER
= 1
Limfa (FGk L)
= 1
ol T
= 1
Bl E P
= 1
Tl
= 1

=
N
Jjm



o2

R AR (AN01)

E

TH4 | R7=1 m|mMMmER = ZIHEK S TF FHEX Y TH BSHERT - (e
TSy TH e
TSy - AR - R - BAk HLAL Kk (Fiml) B (4D K S
— R A
BV 1
R i
BV 1

THE BN O 7 & B4R

TH2EE

=
N
Jjm



